AGENDA- (Special Board Meeting) KINGSBURG JOINT UNION HIGH SCHOOL DISTRICT BOARD OF TRUSTEES

Board Room 1900 18th Avenue Kingsburg, CA 93631 June 7, 2021

4:00 p.m.

1.	CALL TO ORDER		:-	
2.	SALUTE TO THE FLAG			
3.	ROLL CALL AND ESTABLIS	HMENT OF A QUORUM		
	Members Present		,,	
	7=			
	, 		7	
	Members Absent		.	
4.	OTHERS PRESENT			
_	ADDDOVAL OF ACENDA			
5.	APPROVAL OF AGENDA			
	Motion	Second	Vote	

6. PUBLIC COMMENT

A special meeting of the Board of Trustees of the Kingsburg Joint Union High School District has been duly called at the hour of 4:00 p.m. in the board room at Kingsburg Joint Union High School District to consider the following items of business to be upon the agenda:

Public Comment

For regular meetings, the public is provided an opportunity to address not only any item on the agenda but any item within the subject matter jurisdiction of the Kingsburg Joint Union High School District. **Disclaimer:** The opinions expressed in public comments are the authors own and do not necessarily reflect the official policies or position of the Kingsburg Joint Union High School District

Members of the public who wish to provide public comment during observed COVID-19 social distancing guidance may email the district at PublicComment@Kingsburghigh.com by 4:00 p.m. the Friday before the meeting date, which generally lands on Monday. Public comments are limited to three minutes or 450 written words per speaker. Twenty (20) minutes per issue will be allowed. Please note you are not compelled to provide a name and can comment anonymously. The public comments will be read in the order they are received. The comments will be read outload during the public comment portion of the meeting.

Board of Education is prohibited by law from taking action on matters discussed that are not on the agenda and no adverse conclusions should be drawn if the Board does not respond to public comments made at this time. Concerns will be referred to the Superintendent's office for review and response.

Board Room Accessibility: The Kingsburg Joint Union High School District encourages those with disabilities to participate fully in the public meeting process. If you need a disability related modification or accommodation, including auxiliary aids or services to participate in the public meeting, please contact the Administrative Assistant to the Superintendent at 897-7721 at least 48 hours before the scheduled Board of Trustees meeting so that we may make every reasonable effort to accommodate you [Government Code § 54954.2; Americans with Disabilities Act of 1990, § 202 (42 U.S.C. § 12132.]

7.	DISC	USSION				
	7.1 7.2		control & Accountability F – Public Hearing & Com		Hearing & Comment	
8.	ACT	ON				
-						
	8.1 8.2	Sequoia Construc Kimbley's Floor &	tion Proposal for Staff Lo Window Coverings Prop	ounge Remodel oosal Library Flooring		4
9.	ADJ	OURNMENT				
		89	(Time)			
FOR	BOA	RD ACTION:				
	Motio	on	Second	9	Vote	
Thor	nsen:	Nagle:	Lunde:	Serpa:	Jackson:	

ISSUE:	Presented to the Board is the Sequoia Construction Proposal for staff lounge remodel in the amount of \$57,500.00.
	а
ACTION:	Approve or deny the Sequoia Construction Proposal for staff lounge remodel in the amount of \$57,500.00.
RECOMMENDATION:	Recommend approval.
NEGOMMENDATION.	recommend approval.
5	
FOR BOARD ACTION:	
Motion	Second Vote
	unde: Serpa: Jackson:



13863 Ave. 352 Visalia, CA 93292 Office: 559-625-2002 Fax: 559-625-3185 License # 795652

Kingsburg High School 1900 18th Ave Kingsburg, CA. 93631

PROPOSAL

DATE	NUMBER		
5/4/2021	1884		

P.O. NO.	TERMS		PROJECT	
			Staff Lounge Remodel	
DESCRIPTION		ON	TOTAL	
Build new wall for s Install new cabinets, New tall storage cab New LED lights in e Remove carpet.	s, paint all VCTB walls. storage w/ new VCTB. , sink, under counter light pinets in storage room. entry areas, north and sou ank flooring (vinyl). storage area.			57,500.00
			то	TAL \$57,500.00

ISSUE:	Presented to the Board is the Kimbe Coverings proposal for the new librar of \$30,694.98.	rley's Floor and Window ry flooring in the amount
ACTION:	Approve or deny the Kimberley's Flo Coverings proposal for the new libra of \$30,694.98.	
RECOMMENDATION:	Recommend approval.	
FOR BOARD ACTION:		
Motion		ote
Thomsen: Nagle: Lu	nde: Serpa:	Jackson:

4 06-07-21

Kimbley's Floor and Window Coverings

1448 Draper Steet Kingsburg, CA 93631 US 559-897-5104 info@kimbleys.com

ADDRESS

Kingsburg High School Multi Purpose

Room

Hard Surface

Option 2

Library Flooring

ESTIMATE #

JATE

EXPIRATION DATE

1009 05/28/2021 06/28/2021

DATE	SERVICE	DESCRIPTION	QTY	RATE	AMOUNT
	Labor	Installation of LVT	3,200	2.50	8,000.00
	material	LVT	3,200	3.00	9,600.00T
	material	Adhesive	1	620.00	620.00T
	Labor	Demo Carpet	305	7.00	2,135.00
	Labor	Demo Ceramic Tile	1,779	4.00	7,116.00
	material	Provide RTSB	835	1.25	1,043.75T
	Labor	Installation of RTSB	835	1.25	1,043.75
	Freight		1	125.00	125.00
		,	29,683.50		
		TAX (8.98%)			

TAX (8.98%) 1,011.48
TOTAL \$30,694.98

Estimate

Accepted By

Accepted Date